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Q1) Attempt any two parts of following : [2 × 5 = 10]

a) Draw neat functional block diagram of 8085 and explain each block function in brief.

b) What do you know by Machine cycle? What is fetch and execute cycle? Explain each.

c) What are various addressing mode of 8085? Explain with example.

Q2) Attempt any two parts of following : [2 × 5 = 10]

a) In how many group do you classify 8085 instructions? Explain each with example.

b) Explain concept of programmed I/O operations with diagram.

c) Differentiate between Maskable and Non-Maskable interrupts with example.

Q3) Attempt any two parts of following : [2 × 5 = 10]

a) With neat diagram explain functioning of DMA controller.

b) Write concept of peripheral mapped I/O and memory mapped I/O memory.

c) Draw Pin diagram of 8086 microprocessor and write down each pin signals and its function.

Q4) Attempt any two parts of the following : [2 × 5 = 10]

a) Write about Pentium series Processor in details.

b) Differentiate between Sync and Async data transfer with example.

c) What do you understand with edge triggered and level triggered interrupts?

Q5) Write short notes on any two of the following : [2 × 5 = 10]

a) 8255 PPI

b) Restart interrupts

c) Bus organization of 8085.
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NOTES :
i) Attempt all questions.
ii) Students are advised to specially check the Numerical Data of question paper in both versions. If there is any

difference in Hindi Translation of any question, the students should answer the question according to the English
version.

iii) Use of Pager and Mobile Phone by the students is not allowed.
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({hÝXr AZ wdmX)

Zm oQ > : 1) g^r àíZm| Ho$ CÎma Xr{O`o &

2) N>mÌm| H$mo gbmh Xr OmVr h¡ {H$ do {deof ê$n go XmoZm| g§ñH$aUm| _| àíZ nÌ Ho$ g§»`mË_H$ S>oQ>m H$s Om±M H$a| & `{X {H$gr àíZ Ho$ qhXr AZwdmX

_| H$moB© A§Va h¡ Vmo N>mÌm| H$mo A§J«oOr g§ñH$aU Ho$ AZwgma àíZ H$m CÎma XoZm Mm{hE &

3) N>mÌm| Ûmam noOa Am¡a _mo~mBb \$moZ Ho$ Cn`moJ H$s AZw_{V Zht h¡ &

à.1) {ZåZ{b{IV Ho$ {H$Ýht Xmo ^mJm| H$m CÎma Xr{O`o … [2 × 5 = 10]

H$) 8085 H$m ñdÀN> H$m`m©Ë_H$ ãbm°H$ AmaoI ~ZmE§ Am¡a àË òH$ ãbm°H$ µ\§$ŠeZ H$mo g§jon _| g_PmE§ &

I) _erZ MH«$ go Amn Š`m OmZVo h¡? Fetch Am¡a Execute gmB{H$b Š`m h¡? àË`oH$ H$s ì`m»`m H$a§o &

J) 8085 Ho$ {d{^Þ ES>́oqgJ _moS> Š`m h¢? CXmhaU g{hV ñnï> H$s{OE &

à.2) {ZåZ{b{IV Ho$ {H$Ýht Xmo ^mJm| H$m CÎma Xr{O`o … [2 × 5 = 10]

H$) Amn 8085 {ZX}em| H$mo {H$VZo g_yhm| _| dJuH¥$V H$aVo h¢? àË`oH$ H$mo CXmhaU g{hV g_PmBE &

I) Programmed I/O operations AdYmaUm H$mo (Diagram) AmaoI Ho$ gmW g_PmE§ &

J) CXmhaU Ho$ gmW _mñHo$~b Am¡a Zm°Z-_mñHo$~b B§Q>aßQ> Ho$ ~rM A§Va H$a| &

à.3) {ZåZ{b{IV Ho$ {H$Ýht Xmo ^mJm| H$m CÎma Xr{O`o … [2 × 5 = 10]

H$) ñdÀN> AmaoI Ho$ gmW S>rE_E {Z §̀ÌH$ H$s H$m ©̀àUmbr H$s ì`m»`m H$a| &

I) n[aYr` _¡n {H$E JE I/O Am¡a _o_moar _¡n {H$E JE I/O _o_moar H$s AdYmaUm {bI| &

J) 8086 _mBH«$moàmogoga H$m {nZ S>m`J«m_ ~ZmBE Am¡a àË òH$ {nZ {g¾b Am¡a CgHo$ H$m`mªo H$mo {b{IE &

à.4) {ZåZ{b{IV Ho$ {H$Ýht Xmo ^mJm| H$m CÎma Xr{O`o … [2 × 5 = 10]

H$) n|{Q>`_ grarO àmogoga Ho$ ~mao _| {dñVma go {bI| &

I) CXmhaU Ho$ gmW Sync Am¡a Async S>oQ>m Q>́m§g\$a Ho$ ~rM A§Va H$a| &

J) EO {Q>́Ja Am¡a bodb {Q>́Ja B§Q>aßQ> go Amn Š`m g_PVo h¢?

à.5) {ZåZ{b{IV _| go {H$Ýht Xmo na g§{já {Q>ßnUr {b{IE … [2 × 5 = 10]

H$) 8255 PPI

I) nwZama§̂  ì`dYmZ Restart interrupt

J) 8085 H$m ~g g§JR>Z &




